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#include <stdio.h>
#include <stdlib.h>
#include <time.h>

int main () {
int i, n, rT, seed number;
time tt;
//
seed number = time(&t) ;
//[seed number = 123456789 ;
n=>5;

/* Intializes random number generator */
//srand((unsigned) time(&t));
srand((unsigned) seed number);
printf("%Ild\n\n\n\n", time(&t));

/* Print 5 random numbers from 0 to 49 */
for(i=0;i<n;i++){
rr = rand();
printf("%d\n", rr % 100);
printf("%d\n", rr );
}

return(0);

}
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#include <stdio.h>
#include <stdlib.h>
#include <time.h>

int main () {
int i, n, r1, seed number;

time tt;
I
n = b;

/* Intializes random number generator */
//printf("%ld\n\n\n\n", time(&t));

/* Print 5 random numbers from O to 99 */
for(i=0;i<n;i++){
seed number = time(&t) ;
srand((unsigned) seed number);

rr = rand();

printf("%d\n", rr );

printf("%d\n", rr % 100);
}

return(0);
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Numerical Integration:
a Stochastic Method
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Figure 3.1: Measuring the depth of the Nile: a comparison of conventional
quadrature (left), with the Metropolis scheme (right).
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